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Change 1
	Function name
	f_TC_9_1_7_1_NR5GC

	Reason for change
	4. Since loopmodeB is used, activate test mode should be handled in preamble procedure.

5. According to step10, the UE locally releases the signalling connection after T3517 expiry.

	Summary of change
	1. Activate test mode in preamble procedure
2. Changed state to Idle in postamble

	TTCN module
	Service_Request_NR5GC.ttcn

	MCC160 Comment
	1.Accepted.
2. Accepted


Before Change:

	      function f_TC_9_1_7_1_NR5GC() runs on NR5GC_PTC

  {

    //Service request / IDLE mode uplink user data transport / Rejected / Restricted service area

    var NR_CellId_Type v_NGC_NASCellA := f_NR5GC_MapNASCell(ngc_CellA, NG_AllCellsOnSamePLMN); //@sic R5-196055 sic@

    //var NR_CellId_Type v_NGC_NASCellB := f_NR5GC_MapNASCell(ngc_CellB, NG_AllCellsOnSamePLMN);

    f_NR5GC_Init_NAS(NR_1);

    //Create and configure cells

    f_NR_CellConfig_Def(v_NGC_NASCellA);

    //f_NR_CellConfig_Def(v_NGC_NASCellB);

    //Preamble

    f_NR5GC_Preamble(v_NGC_NASCellA, STATE_IDLE_1A);

    f_NR5GC_RRC_ConnectedState3N_Def(v_NGC_NASCellA, TEST_LOOPModeB_ON, -, '05'O);

    //Main test body

    fl_TC_9_1_7_1_Body();

    // Finish

    f_NR_Postamble(v_NGC_NASCellA, STATE_CONNECTED_3A);

  }

	


After Change:

	           function f_TC_9_1_7_1_NR5GC() runs on NR5GC_PTC

  {

    //Service request / IDLE mode uplink user data transport / Rejected / Restricted service area

    var NR_CellId_Type v_NGC_NASCellA := f_NR5GC_MapNASCell(ngc_CellA, NG_AllCellsOnSamePLMN); //@sic R5-196055 sic@

    //var NR_CellId_Type v_NGC_NASCellB := f_NR5GC_MapNASCell(ngc_CellB, NG_AllCellsOnSamePLMN);

    f_NR5GC_Init_NAS(NR_1);

    //Create and configure cells

    f_NR_CellConfig_Def(v_NGC_NASCellA);

    //Preamble


f_NR5GC_Preamble(v_NGC_NASCellA, STATE_IDLE_1A, TEST_LOOPModeB_ON);

    f_NR5GC_RRC_ConnectedState3N_Def(v_NGC_NASCellA, TEST_LOOPModeB_ON, -, '05'O);

    //Main test body

    fl_TC_9_1_7_1_Body();

    // Finish

  
f_NR_Postamble(v_NGC_NASCellA, STATE_IDLE_1A);

  }


Change 2
	Function name
	fl_TC_9_1_7_1_Body

	Reason for change
	1. PSI should be checked based on which PSI is used for DRB. It’s not a constant value. And Modify the IE checking for PSI for different bits.
2. In step8D and after T3517 expiry, UE will locally release signalling connection, then SS should be released as well.
3. Based on reason2, new connection should be setup, using RRC connection procedure.

	Summary of change
	1. Use PSI value derived from first PDU session, and check the UL data status based on this.

2. Release SS in step8D and after T3517 expiry
3. Using RRC connection procedure

	TTCN module
	Service_Request_NR5GC.ttcn

	MCC160 Comment
	1.Accpeted
2.Accepted but implemented differently

3.Accepted


Before Change:

	        function fl_TC_9_1_7_1_Body() runs on NR5GC_PTC

  {

    var NR_CellId_Type v_NGC_NASCellA := f_NR5GC_MapNASCell(ngc_CellA, NG_AllCellsOnSamePLMN);

    var NG_NAS_GutiParameters_Type v_GutiParams_A := f_NR5GC_CellInfo_GetGutiParameters(v_NGC_NASCellA);

    var template (present) NG_MobileIdentity v_S_TMSI_A := f_NG_S_TMSI2MobileIdentity(omit, v_GutiParams_A);

    var NG_NAS_MSG_Indication_Type v_ReceivedMsg;

    var integer v_Count := 0; //@sic R5-194869 sic@

    var template (value) QosFlow_Identification_Type v_QosFlowId := f_NR_GetQosFlowIdentification_ForDRBId(f_NR_GetDefaultDRB_ForFirstPDUSession()); //Get the QosFlow ID information from the DRB ID

    var SDAP_SDUList_Type v_SDAP_Data := { f_IPv4IPv6_IcmpEchoReply(f_LoopbackModeB_IP_Address_UE()) }; //Create the IP Data

    var default v_MyDefaultVar := null; //@sic R5-199099 sic@

    timer t_T3517 := 15.0; //@sic R5-194869 sic@

    timer t_T3525 := 60.0; //@sic R5-194869 sic@

    //@siclog "Steps 1" siclog@

    f_NR_SetCellPower (v_NGC_NASCellA, tsc_NR_ServingCellSSS_EPRE_FR1, tsc_NR_ServingCellSSS_EPRE_FR2);

    //@siclog "Steps 2" siclog@

    DRB.send(cas_NR_DRB_COMMON_REQ_SDAP_SDUList(v_NGC_NASCellA, v_QosFlowId, v_SDAP_Data));

    //@siclog "Steps 3" siclog@

    f_Delay(1.0);

    f_NR_RRCRelease(v_NGC_NASCellA);

    //@siclog "Steps 4" siclog@

    v_ReceivedMsg := f_NR_RRC_ConnEst_DefWithNas (v_NGC_NASCellA, tsc_NR_RRC_TI_Def, ?);

    if (not f_Check_NG_ServiceReqMsg (v_ReceivedMsg.Pdu, cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (), tsc_NasKsi_NativeSecurityContext), v_S_TMSI_A, '0001'B)) {

      f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service Request Message Failed");

    }

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 4");

    //@siclog "Steps 5" siclog@

    SRB.send(cas_NR_SRB_NasPdu_REQ(v_NGC_NASCellA,

                                   tsc_NR_RbId_SRB1, // No SRB2 so must be on SRB1

                                   cs_TimingInfo_Now,

                                   cs_NG_NAS_Request(tsc_SHT_IntegrityProtected_Ciphered,

                                                     cs_NG_SERVICE_REJECT(cs_GMM_GSM_Cause (omit, '00011100'B),

                                                                                            omit, omit, omit))));

    //@siclog "Steps 6" siclog@

    //Void //@sic R5-196055 sic@

    //@siclog "Steps 7" siclog@

    //Void //@sic R5-196055 sic@

    //@siclog "Steps 7A" siclog@

    v_MyDefaultVar := activate(a_NR5GC_RegistrationRequest(v_NGC_NASCellA)); //@sic R5-199099 sic@

    f_NR_RRCRelease(v_NGC_NASCellA); //@sic R5-199099 sic@

    deactivate(v_MyDefaultVar); //@sic R5-199099 sic@

    //@siclog "Step 7B - 8B" siclog@

    f_NR5GC_MobilityRegistration(v_NGC_NASCellA); //@sic R5-199099 sic@

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 7B");

    //@siclog "Step 8C - 8D" siclog@

    //@sic R5-199099 sic@

    v_ReceivedMsg := f_NR_RRC_ConnEst_DefWithNas (v_NGC_NASCellA, tsc_NR_RRC_TI_Def, ?);

    if (not f_Check_NG_ServiceReqMsg (v_ReceivedMsg.Pdu, cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (),

                                      tsc_NasKsi_NativeSecurityContext), v_S_TMSI_A, '0001'B,

                                      -,

                                      cr_ULDataStatus(-,'00000010'B))) {

      f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service Request Message Failed");

    }

    //@siclog "Step 9 - 10" siclog@

    //@sic R5-199099 sic@

    for (v_Count := 1; v_Count < 5; v_Count := v_Count + 1) {

    t_T3517.start(f_NR_SetTimerToleranceMin(v_NGC_NASCellA, nasTimer, 15.0));

    alt{

        []SRB.receive (car_NR_SRB_NasPdu_IND(v_NGC_NASCellA, tsc_NR_RbId_SRB1, cr_NG_NAS_Ind(tsc_SHT_IntegrityProtected,

                                                                      cr_NG_SERVICE_REQUEST('0001'B, //@sic R5-197076 sic@

                                                                      cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (), tsc_NasKsi_NativeSecurityContext),

                                                                      v_S_TMSI_A,

                                                                      cr_ULDataStatus(-,'00000010'B), //@sic R5-199099 sic@

                                                                      omit,omit,*))))

            {

                f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service REQ received before T3517 expiry");

            }

        []t_T3517.timeout

            {

                f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 10");

                SRB.receive (car_NR_SRB_NasPdu_IND(v_NGC_NASCellA, tsc_NR_RbId_SRB1, cr_NG_NAS_Ind(tsc_SHT_IntegrityProtected,

                                                                      cr_NG_SERVICE_REQUEST('0001'B, //@sic R5-197076 sic@

                                                                      cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (), tsc_NasKsi_NativeSecurityContext),

                                                                      v_S_TMSI_A,

                                                                      cr_ULDataStatus(-,'00000010'B), //@sic R5-199099 sic@,

                                                                      omit,omit,*))));

            }

    }

    } //For loop

    //@siclog "Step 11" siclog@

    //@sic R5-194869 sic@

    t_T3525.start(f_NR_SetTimerToleranceMin(v_NGC_NASCellA, nasTimer, 60.0));

    alt{

        []SRB.receive (car_NR_SRB_NasPdu_IND(v_NGC_NASCellA, tsc_NR_RbId_SRB1, cr_NG_NAS_Ind(tsc_SHT_IntegrityProtected,

                                                                      cr_NG_SERVICE_REQUEST('0001'B, //@sic R5-197076 sic@

                                                                      cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (), tsc_NasKsi_NativeSecurityContext),

                                                                      v_S_TMSI_A,

                                                                      cr_ULDataStatus(-,'00000010'B), //@sic R5-199099 sic@

                                                                      omit,omit,*))))

            {

                f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service REQ received before T3525 expiry");

            }

        []t_T3525.timeout

            {

                f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 11");

            }

    }

    } //End of test body of TC_9_1_7_1

	


After Change:

	            function fl_TC_9_1_7_1_Body() runs on NR5GC_PTC

  {

    var NR_CellId_Type v_NGC_NASCellA := f_NR5GC_MapNASCell(ngc_CellA, NG_AllCellsOnSamePLMN);

    var NG_NAS_GutiParameters_Type v_GutiParams_A := f_NR5GC_CellInfo_GetGutiParameters(v_NGC_NASCellA);

    var template (present) NG_MobileIdentity v_S_TMSI_A := f_NG_S_TMSI2MobileIdentity(omit, v_GutiParams_A);

    var NG_NAS_MSG_Indication_Type v_ReceivedMsg;

    var integer v_Count := 0; //@sic R5-194869 sic@

    var template (value) QosFlow_Identification_Type v_QosFlowId := f_NR_GetQosFlowIdentification_ForDRBId(f_NR_GetDefaultDRB_ForFirstPDUSession()); //Get the QosFlow ID information from the DRB ID

    var SDAP_SDUList_Type v_SDAP_Data := { f_IPv4IPv6_IcmpEchoReply(f_LoopbackModeB_IP_Address_UE()) }; //Create the IP Data

    var default v_MyDefaultVar := null; //@sic R5-199099 sic@

    timer t_T3517 := 15.0; //@sic R5-194869 sic@

    timer t_T3525 := 60.0; //@sic R5-194869 sic@

    var integer v_PSI := valueof(v_QosFlowId.PDU_SessionId); 


var boolean v_Result := false;

    //@siclog "Steps 1" siclog@

    f_NR_SetCellPower (v_NGC_NASCellA, tsc_NR_ServingCellSSS_EPRE_FR1, tsc_NR_ServingCellSSS_EPRE_FR2);

    //@siclog "Steps 2" siclog@

    DRB.send(cas_NR_DRB_COMMON_REQ_SDAP_SDUList(v_NGC_NASCellA, v_QosFlowId, v_SDAP_Data));

    //@siclog "Steps 3" siclog@

    f_Delay(1.0);

    f_NR_RRCRelease(v_NGC_NASCellA);

    //@siclog "Steps 4" siclog@

    v_ReceivedMsg := f_NR_RRC_ConnEst_DefWithNas (v_NGC_NASCellA, tsc_NR_RRC_TI_Def, ?);

    if (not f_Check_NG_ServiceReqMsg (v_ReceivedMsg.Pdu, cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (), tsc_NasKsi_NativeSecurityContext), v_S_TMSI_A, '0001'B)) {

      f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service Request Message Failed");

    }

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 4");

    //@siclog "Steps 5" siclog@

    SRB.send(cas_NR_SRB_NasPdu_REQ(v_NGC_NASCellA,

                                   tsc_NR_RbId_SRB1, // No SRB2 so must be on SRB1

                                   cs_TimingInfo_Now,

                                   cs_NG_NAS_Request(tsc_SHT_IntegrityProtected_Ciphered,

                                                     cs_NG_SERVICE_REJECT(cs_GMM_GSM_Cause (omit, '00011100'B),

                                                                                            omit, omit, omit))));

    //@siclog "Steps 6" siclog@

    //Void //@sic R5-196055 sic@

    //@siclog "Steps 7" siclog@

    //Void //@sic R5-196055 sic@

    //@siclog "Steps 7A" siclog@

    v_MyDefaultVar := activate(a_NR5GC_RegistrationRequest(v_NGC_NASCellA)); //@sic R5-199099 sic@

    f_NR_RRCRelease(v_NGC_NASCellA); //@sic R5-199099 sic@

    deactivate(v_MyDefaultVar); //@sic R5-199099 sic@

    //@siclog "Step 7B - 8B" siclog@

    f_NR5GC_MobilityRegistration(v_NGC_NASCellA); //@sic R5-199099 sic@

    f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 7B");

    //@siclog "Step 8C - 8D" siclog@

    //@sic R5-199099 sic@

    v_ReceivedMsg := f_NR_RRC_ConnEst_DefWithNas (v_NGC_NASCellA, tsc_NR_RRC_TI_Def, ?);

    if (not f_Check_NG_ServiceReqMsg (v_ReceivedMsg.Pdu, cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (),

                                      tsc_NasKsi_NativeSecurityContext), v_S_TMSI_A, '0001'B,

                                      -,

                                      -)) {         

      f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service Request Message Failed");

    }

    if(v_PSI <8){

      v_Result := f_Bitstring_BitIsSet(v_ReceivedMsg.Pdu.PiggybackedPduList[0].Msg.service_Request.ulDataStatus.psi0_7, 7-v_PSI);

    }

    else

    {


  v_Result := f_Bitstring_BitIsSet(v_ReceivedMsg.Pdu.PiggybackedPduList[0].Msg.service_Request.ulDataStatus.psi8_15, v_PSI-8);

    }

    if(not v_Result)

  
{


  f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "UL Data status in Service Request Message Failed");


}

f_NR_RRCRelease_Local(v_NGC_NASCellA, f_NR_GetNextSendOccasion_DL(v_NGC_NASCellA));
    //@siclog "Step 9 - 10" siclog@

    //@sic R5-199099 sic@


    for (v_Count := 1; v_Count < 5; v_Count := v_Count + 1) {

    t_T3517.start(f_NR_SetTimerToleranceMin(v_NGC_NASCellA, nasTimer, 15.0));

    alt{

        []SRB.receive (car_NR_SRB_NasPdu_IND(v_NGC_NASCellA, tsc_NR_RbId_SRB1, cr_NG_NAS_Ind(tsc_SHT_IntegrityProtected,

                                                                      cr_NG_SERVICE_REQUEST('0001'B, //@sic R5-197076 sic@

                                                                      cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (), tsc_NasKsi_NativeSecurityContext),

                                                                      v_S_TMSI_A,

                                                                      cr_ULDataStatus(-,-), //@sic R5-199099 sic@    

                                                                      omit,omit,*))))

            {

                f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service REQ received before T3517 expiry");

            }

        []t_T3517.timeout

            {

                f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 10");

                v_ReceivedMsg := f_NR_RRC_ConnEst_DefWithNas (v_NGC_NASCellA, tsc_NR_RRC_TI_Def, ?);





if (not f_Check_NG_ServiceReqMsg (v_ReceivedMsg.Pdu, cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (),

                                      tsc_NasKsi_NativeSecurityContext), v_S_TMSI_A, '0001'B,

                                      -,

                                      -)) {  




      f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service Request Message Failed");




    }



    v_Result := false;




    if(v_PSI <8){




      v_Result := f_Bitstring_BitIsSet(v_ReceivedMsg.Pdu.PiggybackedPduList[0].Msg.service_Request.ulDataStatus.psi0_7, 7-v_PSI);




    }




    else




    {





  v_Result := f_Bitstring_BitIsSet(v_ReceivedMsg.Pdu.PiggybackedPduList[0].Msg.service_Request.ulDataStatus.psi8_15, v_PSI-8);




    }




    if(not v_Result)




  
{





  f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "UL Data status in Service Request Message Failed");





}
                f_NR_RRCRelease_Local(v_NGC_NASCellA, f_NR_GetNextSendOccasion_DL(v_NGC_NASCellA));
            }

    }

    } //For loop

    //@siclog "Step 11" siclog@

    //@sic R5-194869 sic@

    t_T3525.start(f_NR_SetTimerToleranceMin(v_NGC_NASCellA, nasTimer, 60.0));

    alt{

        []SRB.receive (car_NR_SRB_NasPdu_IND(v_NGC_NASCellA, tsc_NR_RbId_SRB1, cr_NG_NAS_Ind(tsc_SHT_IntegrityProtected,

                                                                      cr_NG_SERVICE_REQUEST('0001'B, //@sic R5-197076 sic@

                                                                      cs_NAS_KeySetIdentifier_lv(f_NR_SecurityKSIamf_Get (), tsc_NasKsi_NativeSecurityContext),

                                                                      v_S_TMSI_A,

                                                                      cr_ULDataStatus(-,-), //@sic R5-199099 sic@    //need TTCN CR

                                                                      omit,omit,*)))) 

            {

                f_NR_SetVerdictFailOrInconc(__FILE__, __LINE__, "Service REQ received before T3525 expiry");

            }

        []t_T3525.timeout

            {

                f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 11");

            }

    }

    } //End of test body of TC_9_1_7_1


